

SHORT TENDER CUM QUOTATION NOTICE FOR RATE CONTRACT OF ATM WORKS

PLACE OF WORK BRANCHES UNDER RO PRAYAGRAJ

ONLY EMPANELLED VENDORS MAY APPLY

Place of Submission & opening of Bid

UNION BANK OF INDIA 24/28 Sarojini Naidu Marg, Opposite YMCA School, Civil Lines, Prayagraj – 211001

LAST DATE OF SUBMISSION - 08.07.2022 TILL 3:00 PM

APPENDIX / MEMORANDUM TO CONDITIONS OF CONTRACT

Tender Fee	NIL
EMD	EMD shall be Rs. 2000.00 PER ATM payable in form of Demand Draft / Pay Order favouring Union Bank of India payable at Prayagraj.
Performance Guarantee	The amount shall be 3% of the accepted value of the tender.
Date of commencement	Immediate
Time for completion of work	07 Days.
Retention money to be	3% of the certified gross value of each running bill, till
deducted from the bills.	accumulating total security deposit including EMD.
Total Security Deposit	3% of Contract amount / value of final bill whichever is maximum.
Defect Liability Period	Twelve months from the virtual completion. However, if all the works or more than one works awarded to one contractor the defects liability period will be reckoned from the date of virtual completion of last work.
Period of Final Measurement	15 Days.
Liquidated damages	Shall be 1% of contact amount per week of delay subject to ceiling of 10% of the accepted contract amount.
Value of works for Interim Certificates	No interim payments shall be made
Recovery towards taxes.	As per rules applicable from time to time.

NOTE:

- BANK'S STANDARD TENDER CONDITION OF CONTRACT SHALL APPLY.
- WORK WOULD BE ALLOTED IN PROPORTION AS DESIRED BY BANK TO ONLY
 PARTICIPATING BIDDERS OR OTHER EMPANELLED VENDORS AS DEEMED FIT ON
 BASIS OF L-1 RATES DERIVED IN EACH CATEGORY AFTER EXAMINING ALL BIDS.
 NO CLAIM IN THIS REGARD SHALL BE ENTERTAINED
- THE QUANTITY OF WORK IS INDICATIVE AND MAY VARY TO ANY EXTENT AS PER SITE CONDITION. FURTHER ALL INDICATED ITEMS MAY NOT BE REQUIRED TO BE EXECUTED AT SITE. THE EXECUTION OF ONLY THOSE ITEMS WOULD BE CARRIED OUT WHICH ARE STRICTLY NEEDED AND UPON APPROVAL OF BANK. NO CLAIM IN THIS REGARD SHALL BE ENTERTAINED

BILL OF QUANTITIES FOR STANDARD ATM							
S.No.	Particular	Unit	Tentative Quantity	Rate	Amount	Rate Quotation %	
	These are standard items and the quantity will varry as per site and many of the items shall not be required to be executed in a site. The installation at site confirming to mentioned items shall not be replaced and should be duly cleaned repaired (as per requirement) and maintained.		Actual quantity would be as per site			At par, Above, Below - to be filled by vendor	
1	Providing and laying vitrified floor tiles of size 600mm X 600MM (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS: 15622, of make Nitco/ Naveen/ Bell/ Somany/ Kajaria/ Jhonson in Marbonite / vitrified, ivory / snow white stain free shade or equivalent of similar shade , laid on 20mm thick cement mortar 1:4 (1 cement: 4 coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including grouting the joints with matching grout of same brand as of tiles complete. Basic rate of tile shall be minimum Rs. 975 per SQMT. Measurement shall be of finished floor area, skirting shall not be measured separately. Skirting shall be of 4" flush with finished wall surface with a groove of 6 MM complete. This item also includes patch repair of tiles as per site requirement all complete including providing of tiles matching the current scheme.	Per SQMT	7.50	1416.65	10624.88		
2	Providing & Fixing 2'X2' GRID Heavy duty commercial metalic frame with ceiling tiles & Gypboard false ceiling in combination and as per design & patterns, including vaulted /curved ceiling etc., which includes providing and fixing G.I. perimeter channels of size 27mm, 1.5 mm th. having one of flange of 20 mm and another flange of 30mm along with edge board is screw fixed but the joints are staggered. Then tapered and square edges of the board are filled and finished with jointing compound, paper-tape, suitable for Gypsum plaster boards (as per recommendations of M/s India Gypsum Ltd.). P.O.P smooth seamless finish. The cost to include Provision of Trap Door as per requirement complete. Note: For light fittings, AC, etc. cutouts have to be made with the frame of perimeter channels of size 20x27x30x0.5mm thick supported suitably extra. Measurement shall be finished celing area (LXB). All complete work. (Ratio of Gyp:Grid = 40:60). This item also includes patch repair of false ceiling as per current scheme complete.	Per SQMT	7.50	807.00	6052.50		

3	Providing and fixing paneling over walls/ in AL. frame, (50X38X1.2) @ 600mm c/c with 9 mm th. ply BWR grade confirming to IS 303 with 1.5 mm laminate in approved shade , patterns, SBW molding /beading as per design, finished in natural shade with melamine, complete in all respect. The item shall be executed where there is no paneling and the existing paneling is damaged beyond repairs.	Per SQMT	27.00	2100.00	56700.00	
4 a	Cladding over existing paneling: case 01: if the existing paneling is of ACP- camouflaging the existing ACP sheet with ACP sheet in red and white colour as per prescribed format with ACP sheet of approved brand.	Per SQMT	27.00	1185.00	31995.00	
4b	Cladding over existing paneling: case 02: if the existing paneling is of laminated ply - camouflaging the existing paneling with 6mm MDF and laminating it in red and white colour laminates as per prescribed format with of approved brand complete including silicon application.	Per SQMT	27.00	1200.00	32400.00	
4C	Cladding over existing paneling: case 03: if the existing paneling is recent and new - camouflaging the existing paneling with high quality vynl and laminating it in red and white colour as per prescribed format with of approved brand. Compete as per instructions of Bank	Per SQMT	27.00	915.00	24705.00	
5	External wall cladding with Granite (Lakha Red / Ruby Red) over 1:3 cement mortar with joints grouted by white cement and matching pigment around entrance door / fixed glazing / and front external wall. Complete as per instructions of the Bank	Per SQMT	6.51	3424.00	22290.24	
6a	Main Entrance Door of size 4'-0" X 7-0" to be part of main front glazing of overall size 8'-0" X 8'-0" made with ivory colour powder coated Aluminum extruded sections confirming to IS 1285 with 10MM toughen glass glazing as per design. Opaque film of garware to be installed over glass glazing complete with all required hardware and accessories till satisfaction of the Bank. The work shall be executed only when the quantum of repair is too high and the existing entrance glazing and door is too deviant from prescribed format	Per SQMT	5.95	4842.00	28809.90	
6b	Repair and upgrading the entrance glazing and door as per prescribed format including providing and fixing all necessary hardware and accessories like floor spring, handle, lock etc. The item shall also include provision of replacement of broken glass panes as per present scheme, providing opaque film and painting /pasting of vynl over aluminum frame as per prescribed format. All complete as per instructions of the bank	Job	1	8500.00	8500.00	

	Painting of external wall with 3 or more coat					
7	with weather coat paint, and internal walls and ceiling with high gloss emulsion paint the work to include putty punning to give a super smooth finish. Painting of metal and timber surface with 3 or more coat high gloss enamel paint including preparation of surface. The paint shall be of approved shade and brand. rates should include cast of staging scaffolding complete as per instructions and satisfaction of the bank	Per SQMT	46.47	150.00	6970.50	
8a	Providing and Fixing wall mounted Storage cabinet 2' deep 7' High and 3' Wide made out of 19 MM commercial ply laminated with 1 MM laminate of approved shade and pattern both internally and externally including all required hardware and accessories including godrej locks, hettich hardware complete. This item shall only be executed if there is no storage cabinet in the ATM or the existing storage cabinet is damaged beyond repair	Per SQMT	3.7	5380.00	19906.00	
8b	Repair of existing storage cabinet including providing and fixing all required hardware and accessories including internal lamination / painting as per present scheme. The external side shall be laminated as per prescribed format with 1 mm laminate over 6/4 mm mdf fixed on outer side	Job	1	7500.00	7500.00	
9	P/F 300 X 300 red colour glazed chequerred tiles on external side and ramp as per CPWD specifications complete	Per SQMT	10.00	807.00	8070.00	
10	Fixing of 6MM MDF over existing portion and laminating it with 1.5 MM Laminate in approved shade and pattern on all exposed side complete including polishing of beading / edges complete	Per SQMT	4.65	1183.60	5503.74	
11	Pasting machine cut Vynl letter and vynl strips in two colour over front glazing as per design	Job	1.00	2500.00	2500.00	
12	Providing and fixing 3 Nos 1'-6" X 2' and 1 Nos 2'-6"X 2' acrylic sandwich board (3MM Sheet of Acast) with high quality SS spacers including printing and fixing of media for display boards as per instruction of the Bank. All complete	Job	1.00	9600.00	9600.00	
13a	Providing and fixing LED Glow sign board of printed 3M Lumina flex with UV printing made with double box MS frame of square pipes weighing not less than 8 KG wrapped by pre coat sheet and GI back sheet of 26 gauge all complete including required clamps complete the size of board shall be of entire front facia with proportionate height. The item shall be executed as per need and upon instructions of the Bank only if existing signage cannot be altered as per prescribed format.	SQMT	3.72	3350.00	12462.00	
13b	Repair to glow sign board including	JOB	1	10000.00	10000.00	

	replacement of damaged lights, clamps, frames etc as per need including providing all necessary hardware and accessories. The work to also include replacement of media as per prescribed format in existing quality media					
14	Providing 3 UPS and 3 Data points complete the item shall be executed only as per need, to provide the minimum number of stated LAN and power points	Job	1.00	7500.00	7500.00	
15	Providing / Replacement of damaged 2'x2' LED panel 36W of Philips / or equivalent	Each	2.00	2200.00	4400.00	
16	Providing / Replacement of damaged LED down lighter 36W of Philips / or equivalent	Each	4.00	850.00	3400.00	

1. PAYMENT TERMS: -

- a) No advance payment will be given against the subject work.
- b) Payment shall be made only after successful installation, testing and commissioning of AC complete work, including site clearance, civil repairs etc. as per satisfaction of the Bank